CITY OF NEWTON, MASSACHUSETTS PURCHASING DEPARTMENT **COMPARISON OF BIDS INVITATION #24-55**

Grass Cutting & Trimming, Removal of Leaves/Branches, Mulching, & Pruning of Shrubs (23 locations)

Bid Opening: March 7, 2024 - 10:30 AM Parks & Recreation / Nicole Banks

Bidders	M. Neves Inc		Jewett Landscape*		
BASE BID i Grass Mowing & Trimming	\$92,625.00		\$97,603.00		
BASE BID ii Athletic Field Mowing Only	\$5,600.00		\$6,300.00		
Base Bid iii Leaf Removal/Branch Removal	\$38,500.00		\$47,440.00		
Base Bid iv Mulching	\$11,000.00		\$11,440.00		
Base Bid v Pruning	\$10,350.00		\$13,170.00		
SUB TOTAL BASE BID I, II, III, IV, V	\$158,075.00		\$175,953.00		
OPTION 1 - Total for Mulching 100 CY	\$100.00	\$10,000.00	\$105.00	\$10,500.00	
OPTION 2 - Total for Fruning 40 Hours	\$77.00	\$3,080.00	\$80.00	\$3,200.00	
OPTION 3 - Total for Weed Removal 40 Hours	\$55.00	\$2,200.00	\$80.00	\$3,200.00	
OPTION 4 - Total for Branch Removal 40 Hours	\$88.00	\$3,520.00	\$80.00	\$3,200.00	
OPTION 5 - Mow And Bag Athletic Field 20 Fields	\$500.00	\$10,000.00	\$600.00	\$12,000.00	
Award Recommended To:				Option 1	
Base Bid			Option 2		
				Option 3	
Vendor # Acct & Org#			Option 4		
				Option 5	
Department Head			Chief Procurement Officer	Date	
NOTES REGARDING BID *Totals Corrected by Excel			Mayor or hor designed	Pote	
		55-Grass Cutting-23	Mayor or her designee	Date	

Bidders	Frequency	M. Neves Inc		Jewett Landscape	
Base Bid i - Grass Mowing & Trimming		Cost	Per Year	Cost	Per Year
Angier School	17	\$150.00	\$2,550.00	\$162.00	\$2,754.00
Aquinas School	17	\$150.00	\$2,550.00	\$162.00	\$2,754.00
Bigelow Middle School	17	\$100.00	\$1,700.00	\$130.00	\$2,210.00
Boyd Park & Lincoln Elliot School	17	\$150.00	\$2,550.00	\$162.00	\$2,754.00
Burr School	28	\$500.00	\$14,000.00	\$390.00	\$10,920.00
Countryside School	17	\$150.00	\$2,550.00	\$162.00	\$2,754.00
Davis School	17	\$150.00	\$2,550.00	\$130.00	\$2,210.00
Emerson Community Center	17	\$150.00	\$2,550.00	\$195.00	\$3,315.00
Farlow Park & Underwood School	17	\$225.00	\$3,825.00	\$260.00	\$4,420.00
Hunnewell Park	17	\$300.00	\$5,100.00	\$260.00	\$4,420.00
Lyons Cove & Auburndale Cove	17	\$300.00	\$5,100.00	\$310.00	\$5,270.00
Memorial Spaulding School	17	\$150.00	\$2,550.00	\$195.00	\$3,315.00
Newton Centre Park & Mason Rice School	17	\$300.00	\$5,100.00	\$552.00	\$9,384.00
Old Cold Springs	17	\$150.00	\$2,550.00	\$130.00	\$2,210.00
Pierce School	17	\$150.00	\$2,550.00	\$162.00	\$2,754.00
Pellegrini Park	17	\$200.00	\$3,400.00	\$195.00	\$3,315.00
Richardson Park & Little League	17	\$150.00	\$2,550.00	\$195.00	\$3,315.00
Memorial park	17	\$500.00	\$8,500.00	\$390.00	\$6,630.00
Upper Falls Playground	17	\$200.00	\$3,400.00	\$195.00	\$3,315.00
Ward School	17	\$500.00	\$8,500.00	\$325.00	\$5,525.00
West Newton Common	17	\$200.00	\$3,400.00	\$195.00	\$3,315.00
Williams School	17	\$150.00	\$2,550.00	\$470.00	\$7,990.00
Zervas School	17	\$150.00	\$2,550.00	\$162.00	\$2,754.00
Total Base Bid i - Grass Mowing &		\$92,625.00		\$97,603.00	
Trimming				\$97,003.00	
Base Bid ii- Athletic Field Mowing Only		Cost	Per Year	Cost	Per Year
Burr School	14	\$300.00	\$4,200.00	\$300.00	\$4,200.00
Richardson Park & Little League	14	\$100.00	\$1,400.00	\$150.00	\$2,100.00
Total Base Bid ii- Athletic Field Mowing Only		\$5,600.00		\$6,300.00	

Base Bid iii- Leaf Removal / Branch Removal	QTY	Cost	Per Year	Cost	Per Year	
Angier School	2	\$600.00	\$1,200.00	\$877.00	\$1,754.00	
Aquinas School	2	\$600.00	\$1,200.00	\$1,012.00	\$2,024.00	
Bigelow Middle School	2	\$400.00	\$800.00	\$675.00	\$1,350.00	
Boyd Park & Lincoln Elliot School	2	\$600.00	\$1,200.00	\$1,282.00	\$2,564.00	
Burr School	2	\$1,750.00	\$3,500.00	\$945.00	\$1,890.00	
Countryside School	2	\$600.00	\$1,200.00	\$742.00	\$1,484.00	
Davis School	2	\$600.00	\$1,200.00	\$675.00	\$1,350.00	
Emerson Community Center	2	\$600.00	\$1,200.00	\$540.00	\$1,080.00	
Farlow Park & Underwood School	2	\$1,000.00	\$2,000.00	\$1,552.00	\$3,104.00	
Hunnewell Park	2	\$1,000.00	\$2,000.00	\$675.00	\$1,350.00	
Lyons Cove & Auburndale Cove	2	\$1,000.00	\$2,000.00	\$1,350.00	\$2,700.00	
Memorial Spaulding School	2	\$600.00	\$1,200.00	\$1,350.00	\$2,700.00	
Newton Centre Park & Mason Rice School	2	\$1,000.00	\$2,000.00	\$1,485.00	\$2,970.00	
Old Cold Springs	2	\$600.00	\$1,200.00	\$945.00	\$1,890.00	
Pierce School	2	\$600.00	\$1,200.00	\$1,080.00	\$2,160.00	
Pellegrini Park	2	\$800.00	\$1,600.00	\$945.00	\$1,890.00	
Richardson Park & Little League	2	\$600.00	\$1,200.00	\$945.00	\$1,890.00	
Memorial park	2	\$1,750.00	\$3,500.00	\$1,215.00	\$2,430.00	
Upper Falls Playground	2	\$800.00	\$1,600.00	\$945.00	\$1,890.00	
Ward School	2	\$1,750.00	\$3,500.00	\$945.00	\$1,890.00	
West Newton Common	2	\$800.00	\$1,600.00	\$815.00	\$1,630.00	
Williams School	2	\$600.00	\$1,200.00	\$1,780.00	\$3,560.00	
Zervas School	2	\$600.00	\$1,200.00	\$945.00	\$1,890.00	
Total Base Bid iii - Leaf		#20 F00 00			0.47	
Removal/Branch Removal		\$38,500.00		\$47,440.00		

Base Bid iv - Mulching		Cost	Per Year	Cost	Per Year	
Angier School	1	\$1,000.00	\$1,000.00	\$845.00	\$845.00	
Aquinas School	1	\$1,000.00	\$1,000.00	\$845.00	\$845.00	
Bigelow Middle School	1	\$750.00	\$750.00	\$585.00	\$585.00	
Boyd Park & Lincoln Elliot School	1	\$750.00	\$750.00	\$585.00	\$585.00	
Burr School	1	\$500.00	\$500.00	\$585.00	\$585.00	
Countryside School	1	\$500.00	\$500.00	\$585.00	\$585.00	
Farlow Park & Underwood School	1	\$750.00	\$750.00	\$845.00	\$845.00	
Lyons Cove & Auburndale Cove	1	\$750.00	\$750.00	\$845.00	\$845.00	
Memorial Spaulding School	1	\$500.00	\$500.00	\$585.00	\$585.00	
Newton Centre Park & Mason Rice School	1	\$750.00	\$750.00	\$845.00	\$845.00	
Pierce School	1	\$500.00	\$500.00	\$585.00	\$585.00	
Pellegrini Park	1	\$500.00	\$500.00	\$585.00	\$585.00	
Upper Falls Playground	1	\$500.00	\$500.00	\$585.00	\$585.00	
Ward School	1	\$750.00	\$750.00	\$845.00	\$845.00	
Williams School	1	\$750.00	\$750.00	\$845.00	\$845.00	
Zervas School	1	\$750.00	\$750.00	\$845.00	\$845.00	
	1	· · · · · · · · · · · · · · · · · · ·	·		*	
Total Base bid iv - Mulching		\$11,00	0.00	\$11,440.00		
Base Bid v - Pruning	OTY	Cost	Per Year	Cost	Per Year	
Angier School	1	\$425.00	\$425.00	\$585.00	\$585.00	
Aquinas School	1	\$425.00	\$425.00	\$585.00	\$585.00	
Bigelow Middle School	1	\$425.00	\$425.00	\$585.00	\$585.00	
Boyd Park & Lincoln Elliot School	1	\$425.00	\$425.00	\$585.00	\$585.00	
Burr School	1	\$425.00	\$425.00	\$585.00	\$585.00	
Countryside School	1	\$425.00	\$425.00	\$585.00	\$585.00	
Davis School	1	\$425.00	\$425.00	\$520.00	\$520.00	
Emerson Community Center	1	\$425.00	\$425.00	\$520.00	\$520.00	
Farlow Park & Underwood School	1	\$1,000.00	\$1,000.00	\$1.170.00	\$1,170,00	
Hunnewell Park	1	\$425.00	\$425.00	\$390.00	\$390.00	
Lyons Cove & Auburndale Cove	1	\$425.00	\$425.00	\$390.00	\$390.00	
Memorial Spaulding School	1	\$425.00	\$425.00	\$585.00	\$585.00	
Newton Centre Park & Mason Rice School	1	\$425.00	\$425.00	\$845.00	\$845.00	
Old Cold Springs	1	\$425.00	\$425.00	\$390.00	\$390.00	
Pierce School	1	\$425.00	\$425.00	\$585.00	\$585.00	
Pellegrini Park	1	\$425.00	\$425.00	\$390.00	\$390.00	
Richardson Park & Little League	1	\$425.00	\$425.00	\$390.00	\$390.00	
Memorial Park	1	\$425.00	\$425.00	\$585.00	\$585.00	
Upper Falls Playground	1	\$425.00	\$425.00	\$390.00	\$390.00	
Ward School	1	\$425.00	\$425.00	\$585.00	\$585.00	
West Newton Common	1	\$425.00	\$425.00	\$390.00	\$390.00	
Williams School	1	\$425.00	\$425.00	\$950.00	\$950.00	
Zervas School	1	\$425.00	\$425.00	\$585.00	\$585.00	
Total Base Bid v - Pruning		\$10,350.00		\$13,170.00		